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Measurements

Measurements Value
mean signal (mean) 1656.3
Signal to Noise Ratio (SNR) 285.0
Signal to Fluctuation Ratio (SFNR) 2497
Percent Fluctuation 0.07
Dorift 0.57
Radius of Decorrelation (RDC) 10
Mean Ghost Percentage 2131
Standard Deviation (std) 1.08
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Smoothness - X

Smoothness cFHHMY in mm - ¥i [min mean maxl] = [E.126 2.386 2.8261
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Smoothness - Y
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Smoothness - Z

Smoothrness (CFHHMY in mm - 2% [min mean max] = [1.595 2.4@6 3.3311

T T T T T T T T T
4 i
3 - -
E - -
1 - -
B E ] ] ] ] ] ] ] ] ] -
5} za 48 &a =15 108 128 14m 166 188 2ea
Timepoint
Center of Mass - X
Center of Mass in mm - ¥ [maxdisplacement driftl = [B.831 B.822]
T T T T T T T T T
Ccmassx
Fdvolrey ——
119.35 -
119 -
112.3 [ -
118 -
1 1 1 1 1 1 1 1 1
8 za 48 =15) =17 188 12g 148 168 188 2ea

Timepoint



in mm

Center of Mass

ivn mm

Center of Mass

12z.5

12z

121.5

121

=15

9.3

29

S8.5

Center of Mass

Center of Mass - Y

in mm - ¥

[maxdisplacement drift]

= [B.6835 -8.68161]

cmassy
Aduolrey ——
I —
] 1 1 ] 1 1 ] 1 1
5} zZa 4@ =15) e 168 126 148 168 R=1] 2ea
Timepoint
Center of Mass - Z
Center of Mass in mm - 2% [maxdisplacement drift]l = [B.621 B.68111]
T T T T T T T T T
Ccmassz
Sdvolrey T
1 1 1 1 1 1 1 1 1
=45 45 =15 ga 168 12| 148 168 138 2ea

Timepoint



Gho=%t mean percentage

Ghost

Mean of ghost wvoxels as ¥ of non-ghost [masked] mean
(ghostmeans brightghostmean? = (2.131, 5.6327
Clower is better)
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